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A..5/24,       B.6/29         C.2/9        D.1/3 
6. p(x)     

A p(x) 0      B. p(x) 1      C. �
+∞

∞−
=1)( dxxp    D.p(x)= )(' xF  

7. f(x)=A xe− A=     

A  1/2        B.1/3         C.1         D.2/3 

8 X [ ]5,3 D X =     

A   4    B.  2       C. 4/3        D.  1/3 
9 10 0.6 4      

A  0.6 4     B . 0.6 4 0.4 6    C.   C 4
10 0.6 4 0.4 6      D.  C 4

10 0.6 6 0.4 4  

10 A B P A =0.5 , P B =0.4 P B| A =0.36 P A+B = 
     

A  0.9        B.   0.18         C.  0.72        D.  0.54 
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1 A B P A =0.6 P B =0.7 P A B =0.2 P A+B

=_________ 
2 A B P A =0.3 P A+B =0.72 A B



P B =___________,  A B P B =_______. 
3 A p n

A _________. 
4 A B P A =0.5 P B =0.6 P B| A =0.8 P A+B

=______,P(A-B)=________. 

5 A B P A =0.4 P B =0.3 P BA =______. 

6  nAAA ,,, 21 � 1 )( jiAA ji ≠= φ 2

Ω=�
=

n

i
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. nAAA ,,, 21 � ________. 

7 X~U[a, b], E(X)=______,   D(X)=__________. 

8 a, D(X)=b, 2 2X +1 _________. 
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xϕ c=_____  
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1 A B A B .      

2. A B C A B C      

3 1̂θ 2̂θ D 1̂θ <D( 2̂θ ), 1̂θ 2̂θ   

      

4 X E X 2 =2[E X ] 2 .       

5 AB= C ⊂ A BC=

1 5 1 2 3 4 5 X
3 X . 

2. 5 3 4 3
2 2
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3. X 1 2 3 4 Y 1~X

.1 X Y 2 X Y . 
4 36

66 5 15 05.0=α



70  

9  


